Potencias de 10 (B)

100+0.1

751

79 +-0.001

72100

71 +1000

29100

751000

25=1

47-+0.1

79 <1000

Calcule los siguientes cocientes.

7010

62100

35-+-0.001

14+-0.001

511000

31100

89 +0.001

47-+0.1

35-+-0.001

75 =1
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Potencias de 10 (B) Respuestas

100-=0.1
1,000
75+1
75
79 +0.001
79,000
72 +100
0.72
711000
0.071
29100
0.29
75+ 1000
0.075
25+1
25
47=0.1
470
79 + 1000
0.079

Calcule los siguientes cocientes.

7010
7
62+ 100
0.62
35+0.001
35,000
14 +-0.001
14,000
511000
0.051
31100
0.31
89--0.001
89,000
47+0.1
470
35+0.001
35,000
751
75
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